=
5 :
IS I S R SR S
g ; : : i -
S i
o
<
s}

10™

-1
=10
e
=
)
©
Y3 I I I DU DU P
& : W

3 2

a0 p,/p,)

a(d cot(B))

-1 0 1 2 3

2 3
TP n (PCA to beamline)
[—— DQM_XIMIus_original

XiMinus_newbranch
XiMinus_original_pLess
XiMinus_newbranch_plLess

-1 0 1 2 3

.................................................

-1 0 T2 3
TP n (PCA to beamline)

z

o(d d.) (cm)

1074

.................................................

lilll““lllil |J
TEITH i |m|5|”

1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


